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** Pepartment of CSE, SO, CUH Mahendergarh**

Mid Term (Sessional Kxam 2" ), May 2022

Course: B. Tech. (CSE) 4™ Sem Subject Title: OOPS
Paper Code: BT CS 402

Max Marks: 20 Time Allowed: 1 hour

Note: Attempt all questions. Bach question carries equal marks.
1 Attempt any two:- 2.5x2=5
g 1. Explain the importance of visibility modes in inheritance? \
1. What 1s Abstract class? Explain it with a suitable example.
i11. Compare inheritance «nd containership.
2 Show how 10 overload * ¢perator which creates the copies of the given string. \ 5 \
B “CUHT* 3 oives “CUHCUHCUH”
3 Create 2 Classes TIME]1 ¢ TIME2 where TIMEI stores hours & minutes and TIME2 stores only l S
minutes. How to save one time object into another using user-defired to user-defined type ‘
conversion. Ex: 11 =12 where 11 & 12 arc TIME1 & TIME2 objects respectively. ‘
3 What 1s a Class template? Ilow will this be useful in real world projects? S \
e e e




dition: [ logical operator(:mp/,tw ! desian the truth

able for the following ey, ,,_
| 2= (ypmad),

lity of the set with ammvfwle

i

S x‘ -
] AT -
owing properties of the reluo B i
) 4 L*IE.‘ { -—' -~
i y S iR f‘



Roll No -===---

«% Department of CSE; SOET, CUH Mahendergarh**

Mid Term (Sessional Exam 2"), May 2022

Course: B. Tech. (CSE) 4" Sem

Paper Code: BT CS 401 Max Marks: 20

Note: Attempt all questions. Each question carries equal marks.

Subject Title: Databases Management Systems
Time Allowed: 1 hour

s 4

1 Attempt any two:-
“Multivalued dependencies are consequences of
liminated with example.

i With an example Justify the statement
INF”. Also discuss how multivalued dependencics are ¢
ii Differentiate between 3NF and BCNF.

iii. Differentiate between Immediate Update and Deferred Update.

t the order in

2 T Give an example of a serializable sc
which the transactions commit 1S
What is a recoverable schedule?
there any circumstances under w

schedules? Explain your answct. e .
3 i. Explain optimistic method of concurrency control with example.
When a transaction is rolled back under timestamp ordering,

1i. Why is recoverability of sc

11.

hedule with two transactions such tha

different from the serialization order.
hedules desirable? Are

hich it would be desirable to allow non-recoverable

it is assigned a new

timestamp. Why can it not simply keep its old timestamp?

4 | Consider the following set F of functional dependencies on the relation
schema R (A, B, C, D, E, F):

A—BCD, BC—DE, B—D and D—A

Find the key of R? Normalize

R to the highes| form., il
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Attempt any two questions from the following

Q.1 Define the following terms: 5 mark each (10 marks)

2)  Write in detail photographic materials and it’s all base materials.
& D) Write in detail Light sensitive materials,

: OR
‘¢Q{7rite in detail aluminum foil, properties, application and uses in Packaging. - (10 marks)
-3 Define the following terms: S mark each (10 marks)

~ @ Write in detail Properties of ink.
& Write in detail Fountain solution.
| OR

-4 Discuss in detail about ingredients in printing inks, 10 marks)
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Central University of Haryana
Sessional Exam-2
Subject: Environmental Science Subject code: BTAUD 308 A M.M. 20 Time: 60 Minutes

Note: Attempt any four questions. Each question carries eq‘ual marks. There are 05 marks for each

guestion.
~1_ Define water pollution and give its sources and impact on environment?
'%ve the impact of air pollution on human being and plants?
Q. 3. Write short note on environment protection act?
7 Write short note on chipko movement?
Q. 5. Explain the various factors which influence the population growth?

Write short note on green house effect?
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